
Dividing Decimals Extra Practice.  Round to thousandth place as necessary. 

1. 4 6.4  2. 
78.5

5
 3. 34.5 6  

4. 0.7 9.1  

 

5. 5.33 0.9  

 

 

 

 

 

 

6. 25.18 0.3  

7. 42 150.6  8. 2.5 80.75  9. 3.3 1.15  



10. 
48.4

0.28
 

 

11. 47.13 1.5  12. 2.87 3.5  

13. 1.2 4.32  14. 0.45 3.9  15. 0.016 6.5132  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Answer 

 

1.        

         

 



1.6

4  6.4

4

24

24

 0

 

2.       

         

  

 



1 5 . 7    

5 7 8 . 5    

5    

    2 8        

   2 5    

 3   5   

   3   5   

0   

 

3.    

        

 





 5 . 7 5  

6 3 4 . 5 0  

3 0   

       4   5     

   4   2     

 3 0  

   3 0  

0  

 

4.      

      

 



 1 3

0.7 9.1 7 9 1

7

2 1

2 1

0

 

 

5.  

        

   

  

 



   5 . 9   2   2

0.9 5.33 = 9    5 3 . 3   0   0

4 5   

8   3          

8   1   

2   0     

1   8  

2  0

1  8

 2

 

6.  

    
    

   

 



     3 .  1    0   9    5

 42     1 5 0 .  6    0   0    0  =3.11

1 2 6      

      4    6                

4    2    

    4    0   0     

3   7   8  

 2   2   0

 2   1   0

 1   0

 



7.   

        

   

 



     3 .  1    0   9    5

 42     1 5 0 .  6    0   0    0  =3.11

1 2 6      

      4    6                

4    2    

    4    0   0     

3   7   8  

 2   2   0

 2   1   0

 1   0

 

8.   

        

  

 



    3  2 . 3

2.5 80.75 = 25     8 0  7 . 5

7 5  

      5 7     

5 0  

    7   5

7   5

  0

 

9.  

     
  

 



    0. 3  1   8

3.3 1.15 = 33 1 1. 5  0   0

9 9  

      6 0     

3 3  

    2  7   0

2  6   4

  6

 

10. 

    

     

    

   



0.28 48.4  = 28   4 8 4   0   .  5    0    0   

2 8          

2 0 4                            

1 9 6           

 8    0                       

5    6          

  2    4     5                

 2  

 

     1 7  2   .  8   7    2    

   2     4        

2     1     0         

2     0     4     

                                                   6     0

                                                 5      6

                                                           4   

 

11.  

 

    

   

  

 



     3  1  .   4   1    3

1.5 47.12 = 15 4 7  1  .  2    0    0

4 5      

2  1                  

1  5      

 6     2           

6    0    

2   0      

 1   5   

5    0

4   5

                                                   5

 

12.  

 

          



    0 . 8  2

3.5 2.87 = 35 2 8 . 7  0

2 8  0 

  7  0

7  0

0

 



13.  

            



     3  .  6

1.2 4.32 = 12 4 3  .  2

3 6   

7    2

7    2

0

 

14.  

 



   

  

 



     8 . 6   6   6   

0.45 3.9 = 45 3  9  0 . 0   0    0   8.667

3  6  0    

3  0  0             

2  7  0    

 3  0   0        

2  7   0   

3   0   0  

 2   7   0  

3   0  

 

15. 

     

   

 

     4  0  7  .  0    7    5

0.016 6.5132 = 16 6  5  1   3  .  2    0    0

6  4       

1  1   3                  

1  1   2      

    1     2    0     

1     1    2  

        8   0

 8   0

  0

                                                             

 

 

  


